
Lab #10— Partial solutions

Question#1: WhenI did this, I got
Theory Sample

Mean 0.50 0.41

SD 0.67 0.61
Question#2: For my 100samplesof size5, thehistogramof samplesumswith thenormalcurve overlaid
lookssomethinglike this:
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Thematchbetweenthehistogramandthenormalcurve isn’t verygood.
Question#3: WhenI did this, I got

Theory Sample

Mean 5.00 4.68

SD 2.12 2.33
Question#4: For my 100samplesof size50,thehistogramof samplesumswith thenormalcurve overlaid
lookssomethinglike this:
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It looks like thehistogramstill exhibits someright skewing, but thematchbetweenthehistogramand
thenormalcurve is muchbetterthanat ����� .�

Question#5: Overall, thenormalapproximationworkedbetterfor ������� thanfor ������
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whereI foundtheprobabilityusingthe“CDF” functionin Minitab.
Question#7: Thehistogramsof 100sampleaverages,for samplesof size1, 5 and20aredisplayedbelow.
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Themeansandstandarddeviationsof thesetsof 100sampleaveragesthat I got areasfollows (yours
will besimilarbut not identical). ���'& ����� �(��)��

Meanof samplemeans 5.73 6.16 5.81

SDof samplemeans(SE) 4.37 1.85 1.02�
Question#8: Generallyspeaking,the histogramsbecomemorenormalasthe samplesizeincreases.

(Note: 20 isn’t really enoughfor thecentrallimit theoremto “kick in”—it would have beenmoredramatic
to try asamplesizeof 50or 100insteadof 20. But still, it seemsto beworking).�
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